20x% —ax—-9 = (4x-3)(5x-b) € W, a + b ] F=2 Fo}H?

®-3 @3 ®-1  @o ® 1

B

(4x = 3)(5x— b) = 2022 — (4b + 15)x + 3b
=20x%>-ax-9

3b=-9,b=-3

—(4b+15)=-3=a

a=3

“a+b=3-3=0




2. H&F st erEA 8 A2

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

@ 4a? - 2ab = 2a(2a - b)
®-x*+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x-4)




3. (-3x+4y)(3x+4y) - (lex+5y) (ix—5y) £ 2hes] spA?

111 111

@® _Eﬁ + 25)72 @ —1—6)62 + 16y2
14 1

©) —1—65x2 + 41y? @ —%xQ + 41y?
137

® —?x2 + 31y?

~&B

02+ (- { () - <5y>2}

= —-9x2 + 16y% — —x? + 25y2

145

= ——x2 + 41y

16




4. (a-b-2c)(a-b+5c)—30c? & QEalotH?

® (a=b+3c)(a-b-"Tc) @ (a—b+4c)(a-b+5c)
(@)(a—b—5c)(a—b+8c‘) @ (a—b+5c)(a—b-8c)
® (a—b-2c)(a—b+4c)

~&B

a-b=t52 =9,
(a—b-2c)(a—b+5¢c) - 30c?
= (t—2¢)(t+ 5c) — 30c?

= 1% 4 3ct — 40c?

= (t—5¢)(t + 8¢)
=(a—b-5c)(a—b+8c)




(b+a)? = (b—a)? + 4ab
=(V3)2+4=7
(b +a)b? — (a+ b)a®> = (b+ a)(b? - da?)
= (b+a)*(b-a)
=7V3=mV3
webd m = 7 o]k,




